Revision Workbook OCR unit 1 Wars of the Roses and Henry VII



Simple Timeline 

Causes of Unrest 1445 – 1450
	1445
	Henry Marries Margaret of Anjou and gives up The French provice of Maine. York replaced by Somerset in France and ordered to Ireland. 

	1447
	Humphrey duke of Gloucester dies while under arrest. York finally leaves for Ireland

	1448
	English Soldiers leave Maine

	1449
	English Restart Wars French invade Normandy

	1450
	Loss of Normandy. Cade’s rebellion




Events leading up to St Albans and the Outbreak of the Wars

	1450
	York Returns to England after Cades Rebellion

	1452
	Yorks attempted coup against Somerset, York backs down at Dartford

	1453
	 Loss of Gascony only Calais still held in France. Henry Has a mental breakdown

	1454
	York is protector, Somerset in tower. Edward of Lancaster born

	1455
	Henry recovers. York excluded. Somerset back on council



3. Main part of the Wars

	1455
	Battle of St Albans. Henry has another breakdown

	1456
	Margaret sets up a separate court in the midlands

	1459
	Battles of Blore heath, Ludford Bridge 

	1459 pt 2
	Parliament of Devils, Yorkists Attained

	1460
	Northampton, Henry Signs the Act of Accord

	1460 pt 2
	Wakefield - York Killed

	1461
	Margaret’s Army rampage and forced to turn back from London

	1461pt 2
	Edward enters London and declares himself king

	1461 pt 3
	Battle of Towton



4. Edward IV and Richard III

	1464
	Edward marries Elizabeth Woodville

	1469
	Warwick’s failed rebellion and he flees to France

	1470
	Readeption of Henry VI

	1471
	Tewkesbury, Edward retakes the Throne

	1475
	Treaty of Picquigny

	1483
	Edward dies, princes vanish, Richard takes the Throne

	1484
	Richard’s son dies

	1485
	Battle of Bosworth



5. Henry VII

	1485
	Battle of Bosworth & Henry marries Elizabeth of York

	1486
	Henry’s son Arthur born

	1487
	Simnel’s rebellion and battle of Stoke

	1489
	Treaty of Medina Del Campo

	1491 - 97s
	Warbeck at large

	1499
	Warbeck and Warwick executed

	1502/03
	Death of Arthur and Elizabeth of York

	1506
	Treaty of Windsor De La Pole returned

	1509
	Henry’s death






Questions you should be able to answer topic by topic:

The Outbreak of the Wars

How was England governed in 1445
What problems did the nobility cause
What problems did Henry’s advisors cause
How well did Henry manage his financial resources
What were the problems between York and Somerset
What was the impact on Government of the failure in France
Why did opposition to the government grow 1445 – 50
What were the causes and consequences of Cades rebellion

The Early Actions of Richard Duke of York

Why did York return from Ireland
Why did the attempted coup of 1452 fail
How far was Henry’s mental collapse in 1453 a problem
What was the reaction to the birth of Edward of Lancaster
What was the significance of Margaret of Anjou’s actions
How successful was York’s protectorate
What was the impact of Henry’s recovery.

Wars of the Roses

How significant was the battle of St Albans.
Why was York restored to the protectorate
How important were Margaret’s actions in developing the conflict
How peaceful was England between 1455 and 1459
Why did peace break down in 1459
What was the significance of the Parliament of Devils
Why was York on top by 1460 and yet died at the end of the year
Why was Edward successful in claiming the throne

Edward IV

How well did Edward establish himself as King
How well did he deal with the Lancastrian problem
How well governed was England during his first reign
How successful was his foreign policy
Why did he fall out with Warwick and lose the throne in 1470
How was he able to retake it
How well did he rule England (Finance, foreign policy, Magnates, Government

Richard III

How did Richard become king
 How well did he rule
 Why did he lose the Throne in 1485

Henry VII: Domestic
Why was there unrest in the early years and what steps did Henry take to reduce this threat
How serious a threat were the Yorkist challenges
How successful was Henry in reducing the power of the nobility
How successful was he in establishing strong financial policies and government
Was he ever secure?

Henry VII Foreign policy

What were the aims of Henry VII’s foreign policy
How successful was his policy towards France
How did he avoid conflict with Scotland
How effective were his policies towards Spain and Burgundy
What were the most successful aspects of his foreign policy (Trade, Marriages etc)
Overall how successful was he?



Past Paper essay B questions

1445 – 1461 Source Topics – See source section.

The Outbreak of the Wars
The Early Actions of Richard Duke of York 
Wars of the Roses

EDWARD and RICHARD

Assess the reasons for Edward IV losing the throne in 1470?
How successful was Edward IV in restoring royal authority by the year 1470
How successful was Edward IV’s managing of royal finances
Edward IV was more successful in his second reign than his first’ how far do you agree with this view?
Why was Richard III’s reign so shortlived
How accurate is it to say that Henry Tudor was able to seize the crown primarily because of Richard III’s inability to secure the support of the great nobles of England?

HENRY VII DOMESTIC

How effective was Henry VII in dealing with the Yorkist challenges to his Throne? (2009)
How effectively did Henry VII deal with England’s domestic problems (2010 Also Nobility and Finance topic)
How serious a threat to Henry’s rule was the Yorkist challenge? (2010 June)
How successfully did Henry VII deal with the problem of the Yorkists (Jan 2012)
How successfully did Henry deal with the domestic problems he faced?
How dangerous were Yorkist plots to Henry VII (Jan 2013)
How successful was Henry VII in strengthening royal finances?
How successfully did Henry VII deal with the domestic problems he faced (rebellions part of this)
How effectively did Henry VII handle the nobility?
The handling of royal finances was Henry VII’s most successful domestic achievement, how far do you agree.


HENRY VII FOREIGN

To what extent was Henry VII’s foreign policy a success?
“Marriage agreements were the most successful part of Henry VII’s foreign policy” How far do you agree with this statement?
How successful was Henry VII in achieving his foreign policy aims?
“The avoidance of war was the most important aim of Henry VII’s foreign policy.” How far do you agree with this statement? 
“Henry VII’s foreign policy achieved little” How far do you agree with this statement?
“The need to secure his throne his throne dominated the foreign policy of Henry VII.” How far do you agree with this statement?


AS History, Unit 1 The Early Tudors 1485-1558
How to approach the source questions in the exam
[image: http://animaliaz-life.com/data_images/panda/panda3.jpg]In the Unit 1 exam you will answer questions from two sections. From Section A you will answer a 30 mark source based question. In Section B you will write one 20 mark own knowledge essay. In the exam, the Section A questions will always come from the period 1445 – 1461  Below is a guide to how to approach the question.



Provenance:  This is effectively discussing context. You will often find a source gives one side of the essay in the content. You can evaluate this using your own knowledge. The other side is often covered by the provenance. Why is the Author writing this? What events have shaped his views? When is he writing this? How might the events have shaped the source? What is the purpose of the source. 
Weak evaluation of the provenance will be generic comments like. “It is a letter, a letter is a private document so is reliable.”
Strong evaluation will contain historical knowledge. “It is a letter written by the Duke of York in 1454 to his supporter Warwick. At this time he was the lord protector due to Henry VI’s mental illness. Warwick was his key supporter and the purpose of the letter is to….”
 
How to analyse the provenance of sources
The term provenance simply means ‘where did the source come from’. You need to use your understanding of the provenance to explain why a source has a certain view or whether it makes it more or less reliable. The following are things to examine the source for:
PURPOSE – why has the source been written and what is it trying to achieve?
AUTHOR – who wrote the source and what do you know about their role/views? Does this change your understanding of the content of the source?
NATURE – what kind of source is it? You will get no credit for simply stating this but it could help to explain why a source has a particular view
DATE – When was it written and what was happening at that time?
AUDIENCE – Who was the source written for and does this explain what it does or doesn’t say?
TONE – What is the tone of the author and does this make the content of the source more or less useful

























Section A, Question 1 – 30 Marks
E.g. Study the four sources and considering them in their historical context assess how far they support the view that Henry VI was the most important cause of unrest in 1450



To answer this question you will need to:
· Focus on the specific question throughout
· Evaluate all of the sources using both provenance and own knowledge
· Reach a judgement about the issue in the question by evaluating the sources

Structure Introduction – briefly summarise the views of the sources on the issue in the question and introduce any alternative point views they suggest
1st Paragraph – Evaluate the content of your first source (this does not have to be A best to start with sources that agree with the question) using your own knowledge. How far does your knowledge support the source. How much does it question what they are saying. Then look at the provenance. Why are they saying what they are saying. Are they misleading the reader or is their opinion shaped by something? Use your historical knowledge to do this 
2nd Paragraph – Second source same as first. 
3rd Paragraph – Third source this may well now be sources which disagree with the question
4th paragraph final source
Conclusion – Give an overall judgement about the extent to which the sources support or challenge the view in the question. Evaluate which sources are reliable and which are unreliable. Use this to inform your judgement on the question. 


There is no requirement to structure this essay in a set way but the exam board have stated they do not want this to be overcomplicated. You can think of it as a report on the sources if that helps. Good answers will also naturally pick out similar and different views between the sources and you should at all times avoid simply describing the sources.
KEY POINTS:
A. When talking about the content or provenance you need to make sure this is directly linked to the specific question 
B. Use your own knowledge to evaluate the sources. Explain why they have certain views about the issue in the question
C. You must reach a judgement about the sources, this is the ‘how far’ part of the question. You need to judge explicitly how far they support the issue in the question.
An important note on the Conclusion: To reach level 5 (B and above) you must weigh the sources against each other. It is not enough to simply make a judgement on the question without referring to the sources; you must reach a judgement on the sources themselves

Source Topics
	The Outbreak of the Wars 1445–1450
	The Government of England c.1445; the growth of opposition, the issue of taxation, Henry VI’s advisors, patronage, Cade’s rebellion (1450); Henry’s illness (1453–1455); the problem of the nobility; Somerset and York; failure in France to 1450 and its impact on Government. 


	The early actions of Richard, Duke of York
	York’s return from Ireland (1450); York’s attempted coup (1452); reaction to the birth of Henry’s heir (1453); York’s first Protectorate (1454); York’s removal from the Protectorate; York’s response to the actions of Margaret of Anjou and the second Protectorate (1455). 


	War and the defeat of Richard, Duke of York
	Battle of St Albans (1455); capture of Henry VI; restoration of York to Protectorate; Government of Margaret of Anjou; the role of Neville; the ‘love-day’ (1458); flight of the Yorkists; ‘Parliament of the Devils’; Battle of Northampton (1460); York as heir; death of York (1460) and Edward’s claim to the throne. 




Key issues which the sources often refer to
	
	Knowledge which can be used in evaluation of this factor
	Issues which might be common to the provenance

	Weakness of Henry VI
	· Cades rebellion is a direct result of a number of errors on Henry’s part. The Loss of Normandy undoubtedly would have caused unease in Kent as the closest point. There are also criticisms of the King’s evil councillors and a demand for the restoration of York something made worse by the king being a vacuum of power. Also after the death of Gloucester Henry had given Suffolk some of his lands and holdings in Kent as well as revenue from the cinque ports. This might be linked to Suffolks murder off the Kent coast.   
· In August 1453, Henry VI had a complete mental breakdown. He would not or could not speak or communicate in any way with anyone and even the birth of his son, Prince Edward in October 1453 brought no response from him.
· It is possible that the King’s breakdown was caused by the news from France. The English lost Gascony in 1453 and the commander John Talbot, Earl of Shrewsbury had been killed at the decisive battle of Castillon.  It may also have been hereditary from his maternal grandfather Charles VI of France who believed he was made of glass and would shatter if touched!
· Open violence at a local and regional level. Corruption in government was widespread and Henry’s favourites and their servants and dependents were responsible for much of the intimidation, illegal retaining, embracery and maintenance. Once it became obvious that the king was completely incapacitated, some magnates took the opportunity to sort out rivalries by full-scale armed conflict. For instance, in August 1453, several hundred Percy retainers ambushed a party of Nevilles near York. This was dangerous lawlessness but NOT a fight for the throne.
· Henry’s incapacity led to a struggle between Queen Margaret and the Duke of York which can certainly be seen as a direct cause of the Wars of the Roses since it propelled York into claiming the throne. 
· Henry created a vacuum at the centre of power. By not acting on issues and with his breakdown he created a situation where others had to act for him. This led to feuds and created a situation which created uncertainty. When he was well Somerset held power in 1452 but after his breakdown York held power (1453 – 1454) His recovery destabilised the new balance of power letting Somerset out the tower and excluding York.  


	Some sources written during Henry’s reign will be reluctant to criticise him due to divine right of kings or concerns about treason. This often leads to them laying the blame on others. Likewise many sources in Edwards reign will be quick to criticise Henry due to the Yorkist links or possibly because they are now free to speak. 

	York’s actions
	· York had served as the king’s military commander in France – 1436-7 and 1440-45  - and he was infuriated when he was removed and replaced by Edmund Beaufort, Duke of Somerset, in 1445
· York was also angry that the personal money he had spent in France keeping the war effort going was not repaid. During his time there he had spent over £38,000. Beaufort’s expenses were repaid but not York’s.
· He returned from Ireland in September 1450. He wished to disassociate himself from Cade’s rebellion and protect his position as heir presumptive. He can only have felt resentment at the treatment of Somerset, his replacement as commander in France. Somerset had presided over the loss of France and yet on his return to England had re-joined the Council and been made constable of England. York’s financial position was still very weak. York may also have been afraid that Henry might recognise Somerset as his heir.
· By claiming the throne in 1460 York escalated the situation (although you could argue he did this for self-preservation after the Parliament of Devils)
	First obvious area is the tone as to whether it is a Yorkist or Lancastrian supporter. Date is also key is it written later and trying to justify York’s actions? Is it around the time of the act or accord in 1460 when York was genuinely trying to take the throne or was it written earlier when he was seemingly only pushing for a role in government

	The kings council
	· York had served as the king’s military commander in France – 1436-7 and 1440-45  - and he was infuriated when he was removed and replaced by Edmund Beaufort, Duke of Somerset, in 1445
· Subsequent disputes were established between York and Margaret once the protectorship was established. She attempted to get round this by setting up a court in the midlands in 1456. 
	Is it critical of Somerset and Suffolk? Are there any possible links to York like the demands of Cade’s rebels. Would the writer be trying to deflect blame from elsewhere? Use your knowledge were they genuinely to blame for the issue

	Overmighty subjects
	· In the 1450s there was a feud in the West Country between Thomas Courtenay, Earl of Devon, and Lord Bonville. On a national level, Courtenay was allied to the Duke of York, and Bonville to the opposing ‘court’ party.
· In the north of the country there was an ongoing feud over land between the two leading families, the Nevilles (Earl of Salisbury and his son the  Earl of Warwick) and the Percies (Earl of Northumberland). Conflict broke out in the summer of 1453 because of the marriage between the Earl of Salisbury's second son, Sir Thomas Neville, and Maud Stanhope, niece and joint-heiress of Lord Cromwell.  Under the terms of the marriage agreement the manor and castle of Wressle was to pass permanently to a member of the Neville family. Wressle, had previously been held by Thomas Percy and it was one of the properties the Earl of Northumberland (Percy) wanted to recover. The prospect of the permanent loss of this small but highly desirable manor to a member of the Neville family seems to have been the final straw and violence erupted.
· According to R.L. Storey, the Wars of the Roses were “the outcome of an escalation of private feuds”. Gentry, who lacked confidence in the processes of law, attached themselves to lords who could give them protection against their personal enemies and in return they supported their lords in private wars with their peers. Noble hostilities similarly resulted in the contestants aligning themselves with the major political rivals, and thus drawing their retainers into the conflict of Lancaster and York.
	Use knowledge here probably also linked to another issue like the weakness of the king? Why? What is implied by this?

	Loss of France
	· The Duke of Bedford’s death in 1435 left a vacuum in the leadership of the war which the Duke of York came to fill being appointed lieutenant-general in 1440. By this point Henry VI and his closest advisors, Cardinal Beaufort for example, were determined on a policy of peace.
· In 1444 the Truce of Tours was agreed between the two countries. The peace was to last for 21 months and the negotiations led to the marriage of Henry VI to Margaret of Anjou, the niece of the French king. Her dowry was arranged at 20,000 francs but she arrived in England in 1445 for her marriage without her dowry. It was never paid and this became another source of resentment for those who opposed the policy of peace which Margaret represented and for those who were worried about the crown’s financial situation
· Probably it was the Truce of Tours and the surrender of Maine in 1448 which turned York against Henry’s principal adviser, the Duke of Suffolk. Relations deteriorated and Gloucester’s death in 1447 can only have added to York’s fears. York was recalled to England in 1445 and Henry attempted to silence him by appointing him lieutenant of Ireland in 1447. York refused to go for two years. By treating him as an enemy, Henry and his advisers were turning York into an enemy.
· Henry and Suffolk restarted the war in 1449. In just sixteenth months the English were forced out of Normandy (following the Battle of Formigny in 1450) and in 1453 the English lost Gascony after the battle at Castillon. The only remaining land left to the English was Calais. This was all that was left of Henry V’s French Empire. Anger at Normandy can be seen as a cause of Cades rebellion. Henry’s mental breakdown directly followed the loss of Gascony. Unrest caused by unemployed soldiers may also be hinted at in the sources


	English or French writer? Does it link to other issues? Is it an indirect way of being critical of Henry? Use knowledge to assess this

	Margaret of Anjou
	· Margaret quickly became associated with the ‘peace party’ at court, encouraging the King to sue for peace with France. Here she was supported by the Duke of Somerset. 
· By 1459 Margaret of Anjou and the Duke of Buckingham appear to have convinced the king that York and Warwick were plotting against him. In June 1459 York was accused of Treason an act which caused York and his supporters to mobilise their forces again
· In November 1459, from her powerbase in Coventry Margaret convened what became known as the Parliament of Devils. This Attained (took) all the Yorkists goods and Land back into the possession of the crown. It also named the Yorkists Traitors and condemned them to death. Finally it disinherited the heirs of the Yorkists meaning they could not inherit their titles and estates. This appears to have had a number of effects:

· 1 It gave the Yorkists little option but to fight to retain their power.
· 2 It may well have been seen as harsh by other members of the nobility giving York more support. Many were worried that the disinheritance could then happen to them
· 3 It is seen by some historians as one of the big mistakes made by the Lancastrians and Margaret. Taking the lands of a noble who is imprisoned can work very well as Henry VII later showed, however in this case it was a foolish provocation as the Yorkists were respected by many in the kingdom and still in positions of power.
· After her victory at Wakefield and York’s death Margaret’s Army  marched south ravaging towns and villages as they passed. Whole towns swapped allegiance from the Lancastrians to the Yorkists because of this. Although she won the second St Albans she was subsequently barred from the city of London. Allowing Edward to move in and proclaim himself King. 

	Yorkist or Lancastrian? Date is key here. Is it making unsubstantiated allegations like Edward of Lancaster is illegitimate or is it written later when she has carried out actions from the last column 

	Government Debt
	· By 1455 the crown was virtually bankrupt. The king was unable to repay loans he had taken and the crown was losing its ability to act independently when it was in so much debt to others.

· Defeat and failure in France – the loss of Normandy in 1450 and Gascony in 1453 – affected morale back in England and also the incomes of a large number of noble families. When the war was being successfully fought Henry V had been able to reward his nobility with massive grants of French land and they had enjoyed the wealth which this brought. Under Henry VI these lands were lost and some of the nobility like Humphrey, Duke of Gloucester, and Richard Duke of York became increasingly disillusioned with their king who was expected to lead armies into battle and win victories.

· It has been calculated that by 1450 the Crown was in serious debt owing about £370,000

· Henry VI owed more than £38,000 (£17 million today) to Richard Duke of York for his services and expenses in France. York was very resentful of this especially when the Duke of Somerset’s expenses were repaid but not his own.

· Additionally, the regular annual income  of the crown had fallen from a high of £120,000 a year  in the reign of Henry IV during the early years of the fifteenth century, to as little as £45,000 for Henry VI. This sharp drop in income and rising level of debt were due to a number of factors:
· A reduction in income from customs duties because of a trade depression
· A reduction in income from Crown lands partly due to inflation and partly due to arrears in payment of rents
· An increase in spending on the war in France
· An increase in loans and interest payments from Italian bankers and merchants.
· Henry continued to grant away crown lands in England which he could not afford to do (N.B. Parliament passed Acts of Resumption in 1450 and 1451 to deal with this problem).

	Is the writer a commoner or a nobleman? Yorkist or Lancastrian. 

	Warwick’s role
	· The Neville Percy feud can be seen as some of the earliest violence in 1453 and this directly led to conflict at St Albans in 1455 where they were on opposing sides for the battle
· Neville political support helped York to shore up his protectorate
· Warwick was very popular with the Londoners where he was seen as champion due to his activities as the captain of Calais. This probably helped Edward gain there support at his coronation
· Warwick was in command of the best soldiers in the Calais garrison although they deserted him at Ludford Bridge
· Warwick and Edward captured Henry at Northampton in 1460 which led to Yorks claim and the act of accord
· While a first rate Admiral he was flawed in battle losing at the second St Albans (although he survived)
· He was rich and powerful and a major landowner even before he was rewarded by Edward. 
· Margarets attempted murder of him in 1457 probably shows how far the Lancastrians saw him as a threat. 
	














1: Using these four sources in their historical context, how far do they support the view that Henry VI was the main cause of the growing unrest in the years 1445 - 1450.		(30)

Source A: Jack Cade gives his views about the government of England in an appeal to the people:
 The King should surround himself with men of his true blood from his royal realm, that is to say, the high and mighty prince, the Duke of York, exiled from our sovereign lord’s person (the King) by suggestions of those false traitors the Duke of Suffolk and his affinity  
Adapted extract from the demands of Cade’s rebels (1450) according to Stow’s memoranda. 

Souce B: Pope Pius II (1458 – 64) expresses his opinion of Henry in his memoirs
Henry was more timorous than a woman, utterly devoid of wit or spirit who left everything in his wife’s hand. –
 Commentaries of Pius II on the memorable events of his times. 

Source C: Two farmers are accused of speaking treasonable words against Henry VI: 
John Merfeld and William Merfeld of Brightling in Sussex in the open market on Sunday 26th July falsely said that the king was a fool and would often hold a staff in his hands with a bird on the end, playing therewith as a fool, and that another king must be ordained to rule the land, saying that the king was not a person who was able to rule the land. –
 Adapted from proceedings of the court of King’s bench 1450.

Source D: A contemporary French chronicler, the monk Jean Chartier described the French victory in taking Normandy from the English in the summer of 1450

Never had so great a country been conquered in such a short space of time, with such small loss to the populace and soldiery, and with so little killing of people or destruction and damage to the countryside. To do this within the space of only a year and six days was a great miracle and an extraordinary marvel.





















Using these four sources in their historical context, assess how far they support the view that Henry VI’s policy towards France was responsible for the growing dissatisfaction with his government in the years 1445 to 1450. [30] 2017 AS Paper

Source A: Henry VI gives Maine to the French in 1445. 
Our very dear uncle, we know that you would be very glad we should make deliverance of the city, town and castle of Le Mans and of all that we have and hold within the county of Maine to our very dear father and uncle, the King of Sicily and Charles of Anjou, his brother. You have most affectionately upon your part required us to do so and informed us this is the aptest means to arrive at the blessing of peace between us, favouring also our most dear companion the Queen, who has requested us to do this many times. 
From a letter of Henry VI, 1445 
Source B: A Description of Henry VI by John Blacman, the King’s Confessor. 
A diligent and sincere worshipper of God was this King, more given to God and to devout prayer than to handling worldly things or practising vain sports and pursuits: these he dismissed as trifling and was continually occupied either in prayer or the reading of the scriptures. 
From John Blacman,1484 	
Source C: A description of Cade’s Rebellion in 1450. 
And this same year arose the men of Kent and made themselves a captain, an Irishman called John Cade, who at the beginning called himself Mortimer for to have the favour of the people. He said England had been ruled by untrue counsel and the commons were sore hurt with taxes and other oppressions and might not live by their handiwork and husbandry for which they grudged sore against those who had governance of the land. 
From An English Chronicle, 1451

Source D: A Grant made to Suffolk by Henry VI
Grant to William, Marquis of Suffolk, of the keeping of all the lands, manors, rents and services which descended to Anne, daughter and heir of Henry, late duke of Warwick after the death of Humphrey Duke of Gloucester, to hold during Anne’s minority; and the reversion of the office of constable deputy for life, with the usual wages, fees and profits
Calendar of parliamentary roles 24th Feb 1447













B: Using these four sources in their historical context, assess how far they support the view that Cade’s rebellion occurred because of the actions of the king’s councillors



Source A The Attainder (punishment without trial for treason) of Jack Cade 1451

The traitor John Cade, naming himself John Mortimer, lately called captain of Kent falsely and traitorously plotted your death, destruction and subversion of this your realm, in gathering and raising a great number of your people and stirring them against you.

Source B: The Demands of Cades Rebels 1450

The Law serves for naught else these days but to do wrong and the courts show no justice. Also we say that our sovereign lord may understand that his false council has lost his law, his merchandise lost and the common people destroyed. France is lost, the sea is lost and Henry so beset that he owes more than any king of England should. Daily his traitors about him take what should be his by law. The commons desire that he shall dismiss the false Duke of Suffolk and that they be punished by the law of the land and he shall take about his noble person his true blood the high and mighty prince the Duke of York and exile the false traitor Suffolk.

Source C: Extract from a warning to Henry a poem complaining about the impoverishment of the King, blamed on people close to Henry. 

You that have the King to demean
You that have made the king so poor
That now he begs from door to door 
Let no longer the traitors go loose
O king, if king you are,
Rule yourself or you will be a king without substance
You have a title without substance unless you rule rightly.



Source B: A London Lawyer and chronicler Robert Bale recorded instances of unrest in south east England during 1450

In February 1450 a man calling himself William Bluebeard who had laboured to raise a great fellowship aspiring to have had rule among the lords, was drawn through the city and hanged. Then all Englishmen driven out of France, Normandy and Anjou came home in great misery and poverty rode into several parts of the land giving themselves over to theft and misrule. In June the men of Kent arose and chose themselves a captain, a rogue, an Irishman called Jack Cade who came into the city. 
















Using these four sources in their historical context evaluate how far they support the view that Richard Duke of York was responsible for the downfall of the Lancastrian dynasty in 1461?

Source A: Charges drawn up against York at the Parliament of Devils in November 1459
“When Richard was in Ireland as your lieutenant there, Jack Cade, your great traitor, led a large insurrection in Kent in 1450. Some of his supporters, when on the point of death, confessed their true intentions and on whose behalf they acted. They intended to have raised the Duke of York, against all reason, law and truth, to the crown of England, which god has ordained that you and your successors should bear”

Source B: The Act of Accord, 24th October 1460
Richard Duke of York, desiring the peace and prosperity of this land shall take, worship and honour Henry for his sovereign lord. It is agreed that Richard Duke of York be henceforth and very and rightful heir to the crowns and after the death of Henry the duke and his heirs will immediately succeed to the said crowns

Source C: A letter written by Margaret of Anjou after the battle of Wakefield in December 1460 to rally support in London
The late Duke with extreme malice plotted to destroy the king Henry. He falsely claimed a right to the crown, contrary to his allegiance and several oaths freely sworn by him. He would have deposed the king Henry, had it not been for the unchangeable loyalty of you and others, his true subjects. Out of pure malice, he proposed to continue his cruelty to our utter undoing and that of our son the prince. 

Source D: The French Chronicler Jean de Waurin reported the deposition of Henry VI in 1461
The changes that took place in the kingdom were due to the simple-mindedness of the king who was neither intelligent enough nor experienced enough to manage a kingdom such as England. It is true the proverb which says ‘Very afflicted is the land whose prince is a child or rules like one’. 
King Henry himself and his wife Queen Margaret were overthrown and lost that crown which his grandfather Henry IV had violently usurped and taken from King Richard II, his first cousin, whom he caused to be shamelessly murdered. Men say that ill-gotten gains cannot last.  















1 Using these four sources in their historical context, assess how far they support the view that Henry VI was responsible for his own downfall. 
[30] 

Source A: Jack Cade gives his views about the government of England in an appeal to the people. 
The king should have as his advisers men of high rank from his royal realm, that is to say, the high and mighty prince, the Duke of York, exiled from the service of the king by the suggestions of those false traitors the Duke of Suffolk and his followers. 
Jack Cade, The Complaint of the Poor Commons of Kent, 1450 

Source B: A chronicler records on a concern about the succession expressed in Parliament. 
In Parliament Thomas Yonge of Bristol, apprentice in law, moved that because the king had no offspring, it would be necessary for the security of the kingdom that it should be openly known who should be his heir. And he named the Duke of York. For daring to do this, Thomas was afterwards imprisoned in to the Tower of London. 
The Annals of the Kings of England (Annales rerum anglicarum), May 1451 

Source C: A chronicler comments on the dispute between York and Somerset. 
Soon after Easter 1455, another dispute arose between the noble Duke of York and the evil Duke of Somerset. For Somerset was plotting the destruction of the noble Duke of York. He offered advice to the king, saying that the Duke of York wished to depose the king and rule England himself – which was manifestly false. 
Because of this, around the middle of May, the Duke of York and the Earls of Shrewsbury and Warwick approached London with seven thousand armed men. When the Duke of Somerset heard this news, he suggested to the king that York had come to usurp the throne. For this reason Henry sided with the Duke of Somerset. 
The Anonymous London Chronicle, for the year 1455

Source D: A chronicler comments on the government of England in 1459. 
The realm of England was not well governed for King Henry VI was child–like and influenced by greedy advisors. He was owed more than he was worth. His debts increased daily, but payment was there none; all the possessions and lordships that belonged to the crown the king had given away, some to lords and some to other lesser persons, so that he had almost nothing left of his own. And the money taken from the people was wasted, as all the taxes that came from them were spent in vain. The king did not have a proper household as a king should nor was he able to maintain any wars. The queen with her supporters ruled the realm as she liked, gathering innumerable riches. The queen was defamed and slandered. It was said her son, who was called the heir to the throne, was not her son but was an illegitimate child born as a result of her adultery; wherefore she, dreading that he should not succeed to his father’s throne, allied unto her all the knights and squires of Cheshire. 
A Chronicle of the reigns of Richard II, Henry IV, Henry V and Henry VI, c.1465




















1 Using these four sources in their historical context, assess how far they support the view that Henry VI’s mental breakdown was the main reason for the outbreak of the Wars of the Roses in 1455?



Source A: In March 1454 after the death of Archbishop Kemp 12 councillors visited Henry VI to find out who he wanted as Archbishop of Canterbury

They could get no response from the king to anything that they said or did. Then the Bishop of Winchester said to the king that the lords had not dined and they would wait upon his highness again after dinner. So after dinner they returned to the king and moved and stirred him in all the ways they could think of in order to get an answer but they got no word or sign. 
(Adapted from the parliamentary roles)


Source B A report on the situation in London 

The duke of York will definitely be at London on Friday next and he will come with his household men. And the earl of March comes with him but he will have other supporters which will be in London before him. The Earl of Salisbury will be in London Monday or Tuesday next week with 140 knights and the Earls of Warwick, Richmond and Pembroke come with York and each brings many men. It is thought by my lord’s servants that my lord should come with a good and able company of men, the same as the other lords have. 
(John Stodeley to his master the Duke of Norfolk 19th January 1454)




Source C: Parliament Records on York’s Appointment as Protector

York shall be chief of the kings council and a name different from other councillors was devised, not the name of tutor, lieutenant, governor nor of regent, nor no name that shall give the authority of government of the land but the title of protector and defender, which gives a personal duty of defence of this land from it’s enemies outward and rebels inward if there are any during the kings pleasure (breakdown)
 
(Parliamentary roles 27th March 1454)



Source D: A report of Henry VI regaining his health on Christmas day 1454

Blessed be God, the king is well and has been since Christmas day. The queen came to him and brought my lord price with her. And then he asked what the prince’s name was, and the queen told him Edward; and then he held up his hands and thanked God. 

(Letter from Edmund Clere to John Paston 9th January 1455.) 
















1 Using these four sources in their historical context, assess how far they support the view that
Richard, Duke of York was responsible for his own downfall. [30] – 2017 paper


Source A: An account written in England for the Duke of Burgundy on the events of 1455.
The Duke of York said he had by no means come against the King and was always ready to do him
obedience, but he intended in all ways to have the traitors who were with the King so that they could
be punished, and that if he could not have them by friendly and voluntary means he intended to have
them in any event by force. Reply was made on the King’s behalf that he did not have any traitors near
him except the Duke of York himself who had risen against the crown. But before this reply came to the
Duke of York a skirmish had already started between the men of both sides

The Dijon Relation, 1455


Source B: An extract from the Act of Accord of October 24, 1460.
It is accorded, appointed and agreed, that the said Richard, Duke of York be entitled, called and reputed
from henceforth, very and rightful heir to the Crowns, Royal Estate, Dignity and Lordship above said;
and after the death of the said Henry, the said Duke and his heirs, shall immediately succeed to the
Crowns, Royal Estate, Dignity and Lordship.
The Act of Accord, 1460



Source C: An account of the Battle of Wakefield in December, 1460.
On December 21 the Duke of York and Earl of Salisbury came to Sandal Castle where they spent
Christmas, the Duke of Somerset and the Earl of Northumberland with the opposite party lying
meanwhile at Pontefract. King Henry with the Earl of Warwick spent Christmas at St Paul’s and Edward,
Earl of March, spent Christmas at Shrewsbury. On December 29 at Wakefield when the Duke of York’s
men were roaming through the countryside for victuals, a horrible battle took place between them and
the Duke of Somerset, Earl of Northumberland and Lord Neville with a great army; and there were
killed in the field the Duke of York, Thomas Neville, son of the Earl of Salisbury, Thomas Haryngtone,
Thomas Parre, Edward Boucher and many other knights, squires and common soldiers to the number
of 2000. After the battle Lord de Clyfforde killed Lord Edmund, the Earl of Rutland, son of the Duke of
York, on the bridge at Wakefield as he fled. On the morrow at Pontefract the Bastard of Exeter killed
the Earl of Salisbury and beheaded the body of the Duke of York, placing his head on a gateway in
York and in contempt crowning it with a paper crown.
The Annals of William of Worcester, 1461



Source D: An account of the actions of Edward, Earl of March in early 1461.
Edward, Earl of March, the Duke of York’s son and heir, had a great victory at Mortimer’s Cross in
Wales the 2nd day of February next following, and there he put to flight the Earl of Pembroke and the
Earl of Wiltshire. And there he took and slew knights and squires and others to the number of 3000.
And in that conflict Owen Tudor was taken and beheaded at the market place, and his head was set
on the highest pinnacle of the market cross … over the Earl of March his men saw three suns shining.
Gregory’s Chronicle, 1461













1 Using these four sources in their historical context, assess how far they support the view that the support of Richard, Earl of Warwick was crucial to Yorkist success in the years 1455 to 1461. [30] – 2018 paper

Source A: A description of the First Battle of St Albans, 1455. 

Lord Clifford kept strongly the barriers so that the Duke of York might not in any way enter nor break into the town but the Earl of Warwick took and gathered his men together and ferociously broke in by the garden side between the sign of the Key and the sign of the Chequer in Hollowell Street; and as soon as they were in the town they blew trumpets and shouted with a great voice: ‘A Warwick! A Warwick!’ At once after the breaking in they set on them manfully. The Duke of Somerset, the Earl of Northumberland, Lord Clifford and about 50 more of the King’s followers were slain; the King was wounded as were also the Duke of Buckingham, the Earl of Stafford, the Earl of Dorset and Sir John Wenlock. 
The Paston Letters, 1455 

Source B: A description of the return of the Duke of York from Ireland in 1460. 
While the people were wavering in doubt and the lord King was assembled with the prelates, peers and commons in parliament for the good of the realm, the Duke of York with the pomp of a great following and horns and trumpets arrived in no small exultation of spirit. He advanced with determined step on the royal throne and laid his hand on the cushion, keeping it there for a short while. At last, drawing it back, he looked at the gazing assembly. The Archbishop of Canterbury asked him if he wished to see the Lord King but the Duke seemed irritated and replied curtly, ‘I know of no person in this realm whom it does not behove to come to me rather than I should visit him.’ When the news of the Duke’s high‑handedness reached the people, they at once began to murmur against him. 
Whethamstede’s Chronicle, 1460 

Source C: An account of the Second Battle of St Albans in February, 1461. 
When the Battle of Wakefield was over, Queen Margaret came from Scotland to York where it was decided by the counsel of the lords to march in force to London and to rescue King Henry from the hands of his enemies. On Shrove Tuesday took place the Battle of St Albans, where the Duke of Norfolk and the Earls of Warwick and Arundel and many others fled the field. And the prince came to his father, King Henry, in the field and was dubbed knight. In the battle were killed 2,000 men. 
The Annals of William of Worcester, 14613 

Source D: An account of the accession of Edward IV in 1461. 
On the 28 February, 1461 the Earl of March and the Earl of Warwick came to London with a great power, and on Sunday afterwards all the host mustered in St John’s field and there were read among them certain articles and points in which King Henry had offended against the realm and then they were asked whether they would have the Earl of March as King and they cried ‘Yea!’; when the Earl of March was told the people had chosen him as king, he thanked them and, by the advice of the Archbishop of Canterbury, the Bishop of Exeter, the Earl of Warwick and others, consented to take the crown upon him. 
Six Town Chronicles, 1461



















How successful were the governments of Edward IV and Henry VII

	
Edward IV

	
Henry VII
	
Level of success and similarities/differences

	Law and order
(i)Initially Edward had a very hard job as he still had many Lancastrians to deal with and fighting continued until 1465 – and then broke out again in 1469-71.  So his first 10 years were not secure.  When he returned to the throne in 1471 he was determined to impose order.

(ii)Opposition was crushed and rebellion, where it broke out was ruthlessly put down.  Edward learnt that he had to execute enemies (eg. Bastard of Fauconberg – 1471)

(iii) Edward used Parliament to issue Acts of Attainder to punish those who dared defy him.  He issued 140 and reversed 42.

	Law and order
Henry had an advantage over Edward in that there was not a rival king still alive.  Marriage to Elizabeth of York combined the Yorkists and Lancastrians.  The die hard Yorkists had to rely on pretenders.  However, he was not free of these until he executed Warbeck and the Earl of Lincoln in 1499
 
(ii) Henry also quick to stamp on any hint of rebellion.  When Stanley – his chancellor – said that if Perkin was in fact Edward’s son he would have to support him, he was immediately executed 1495.

(iii) Henry also used attainders and the income derived from fines was seen as so attractive to Henry that he sometimes preferred to fine people for murder, kidnap or arson rather than execute them.  However, he does not seem to have been excessive.  138 attainders passed and 46 reversed.
	Neither king was totally successful in establishing law and order – though Edward seems to have done better in the ten years of his second reign.  Neither could ever relax and both used attainders, and executed those who hinted rebellion.
Edward IV was on the throne for 22 years and passed 140 attainders and reversed 42.  Henry VII was on the throne for 24 years and passed 138 attainders and reversed 46 (if you don’t count the ones he reversed straight after Bosworth, undoing the many attainders passed by Richard).

	Parliament
Parliament played no regular part in the maintenance of law and order.  It met to grant taxes and pass laws.
The Lords consisted of Lords spiritual (archbishops, bishops and abbots) and Lords temporal (nobles).  They met in the royal palace, whereas Commons met nearby in a chapter house attached to Westminster Abbey.  MPs in the Commons were chosen by the rich and typically they were local gentry representing the counties and merchants and lawyers representing the boroughs.  The parliaments of Edward’s reign were summoned on 6 occasions for no more than 84 weeks in total and they did as they were told.
	Parliament
Henry only summoned parliament 7 times and five of those were in his first decade when he was relatively insecure.  He did not need to ask for war taxes very often because he avoided war. Nor did he feel the need for new legislation.  His most frequent govt. Bills were Acts of Attainder and Parliament’s judicial function as the final court of appeal was now fulfilled by his new courts such as Council Learned in the Law.
Henry encouraged parliament to enact legislation to deal with social discipline e.g. laid down rules on wages and hours of work, instructed vagabonds to be put in the stocks, forbade corporations from making any regulations unless they first had the approval of the king.  Parliament was being used by Henry to show that power derived from the Crown. 
	Neither king summoned parliament frequently but both used it as an institution to support their policies on law and order.  For example under both kings laws were passed against riots and retaining.

	Government
Edward was an energetic king, keen to establish  strong government.  He did not make any radical changes but introduced a new dynamism.
(i)King’s council was the key coordinating body staffed by the king’s most trusted advisors. John Morton, Bishop of Ely became Edward’s most trusted advisor and showed Edward was not afraid to promote talented  men of humble backgrounds.
He did not neglect the nobility but unlike former kings, did not promote them if they weren’t talented eg. His cousin the Duke of Norfolk never put on council.
(ii)Regional govt. Was done through regional councils run by close and trusted men, e.g. the Council of the North was run by his brother, Richard Duke of Gloucester.
(iii)Local govt had to be more or less rebuilt by Ed who appointed Crown commissioners to support local law enforcement and, made trusted gentry JPs and sheriffs.  He enlarged the royal household so he had a larger pool of staff to draw upon.
	Government
The 1st major test of Henry’s kingship – who should sit on his council.  From the beginning he opted to govern through a small council and he came to rely on an elite group of councillors.  They included as Lord Chancellor,the same John Morton that had been Edward’s most trusted advisor – he’d been arrested by Richard and had fled to join the Lancastrians in Brittany so had earned Henry’s confidence too.  These trusted councillors provided stability as when Henry trusted he kept soone in service, for instance Morton remained Lord Chancellor until his death in 1500.
(ii) Henry needed nobles to help him police and govern the kingdom, but he always insisted on absolute loyalty to the Tudors and initially he appointed some loyal nobles to govern, but as they died, for instance after Jasper Tudor, Wales was put into the hands of a council.It was clear that Henry was moving away from using great magnates towards councils.  The Council of the North differed from the conciliar committees had selected councillors serving on the king’s council such as Sir Reginald Bray to supervise its activities, and to keep an eye on personnel.  His personally selected members were expected to report back.
(iii) Henry inherited a robust system of local govt. So he was able to focus his attention on controlling JPs and sheriffs.  These were the 2 most important royal officials in each county.  As the power of the JP increased that of the sheriff declined.  Nevertheless they were trusted to be the Crown’s representative and they took on greater responsibility for conduct of parl elections.
In 1495 Henry put through an act to deal with corrupt juries, and Justices of the Peace were allowed to replace suspect members of juries, act in cases of non capital cases without a jury and reward their informers.
Henry had to rely on JP’s own self interest as leaders of society to uphold law and order.  Virtually his only control over them was the threat of reoval from commission.  The Court of the King’s bench could overrule decisions but this was not very effective.
	Most historians now agree that there was little real change in the machinery of govt. Between Henry VI and Henry VII.  Henry inherited a system that was made more efficient by the Yorkists but there were no major changes in the institutions of central govt during his reign.  They even shared some of the most important advisors, such as John Morton.
Like his Yorkist predecessors he used smaller committees, formed from within his Council, to deal with particular tasks.  








Something that was different however was that Henry centralised his system of government.  However, just like Edward, Henry frequently chose to rely on the 2nd rank of landowners (gentry) to weaken the power of the magnates.  Henry followed the example Edward in widening the scope of Justices of the Peace to include power of arrest and to be allowed to question poachers or hunters.

	Finance
Ordinary revenue came in every year from Crown lands and custom duties, profits of justice (fines) and feudal dues.  Edward maximised the revenue from his Crown lands collecting them efficiently and these lands included the York estate, plus any land confiscated. At the beginning of Edward’s reign customs duties were the biggest part of the king’s income and principal taxes were levied on wool, leather cloth and wine,  and here again Edward greatly increased the income by cutting down on fraud.
Extraordinary methods: In times of emergency Parliament authorised a tax – 1/15th in the country and 1/10th in the towns of a subject’s income.  The king tried a more modern form of income tax but it was viewed with suspicion and hostility and this was not successful. In 1475 (when fighting France) he introduced a ‘benevolence’ a kind of forced loan. The Treaty of PIcquigny also brought him a French pension.
	Finance
Initially Henry reverted to using the Exchequer and this was a mistake as it was too slow and his estates were allowed to fall into decay.  By the end of 1487 he began to restore the Chamber system.  His most trusted financial advisor was Sir Reginald Bray (recommended by his mother Margaret).  Henry entrusted him with the task of introducing new methods of auditing the accounts.  Bray worked closely with Sir Thomas Lovell and Sir John Heron making the system more efficient.  Financial resources came from the two main sources, just as Edward enjoyed.Ordinary revenue: crown lands, customs, feudal dues, profits from justice and Acts of resumption. Extraordinary methods:  Parliamentary grants, loans and benevolences, clerical taxes, the French pension, and Bonds and recognisances which he exploited ruthlessly.  Income from bonds rose from £3,000 in 1493 to £35,000 in 1505.  Like Edward Henry also exploited the system of loans and benevolences.  In 1491 he raised £48,500 from a forced loan to face France and again in 1496 when Warbeck threatened invasion.
	
It was the Ordinary income which was supposed to enable a king to “live of his own” and both Edward and Henry had trouble with that although they both made collecting it much more efficient.  Both realised that the Exchequer, while honest and reliable, was very slow and outstanding sums often took years to collect, so Edward developed the Treasury of the Chamber as his chief financial dept and within 2 years of taking over Henry reverted to this system as well.  Edward deserves credit for the way he made the financial system more flexible and while both kings were less rich than many European kings, they both died solvent.


Assess the reasons for Edward IV losing the throne in 1470?

· Warwick swapping sides was the key factor in this. His support for the Lancastrians revived their hopes for the crown.
· [bookmark: _GoBack]Warwick’s personal ambition played a role. He had initially been rewarded after Towton but grew to hate the fact he was increasingly side-lined by Edward. 
· Edwards Marriage to Elizabeth Woodville was significant. This immediately angered Warwick as he was arranging a marriage alliance and treaty with the French and Edward marrying, initially in secret, scuppered this.
· This was made worse by the size of Elizabeth Woodvilles family. They then began to take all the good marriages something which had a personal effect on Warwick as he needed marriages for his daughters Isobel and Anne. 
· Finally the fact they had replaced him as primary advisors for the king would have also angered Warwick when Edward signed an alliance with Burgundy in 1467 this was against Warwick’s advice he wanted a French marriage
· Clarence also played a role by siding with Warwick he presented Warwick with another option for King and also gave him powerful support.
· Warwicks rebellion in 1469 failed but also backed him into a corner and forced him to flee to France. The support of Louis XI was crucial as he brought Margaret of Anjou together with Warwick and Clarence
· Edward had failed to deal properly with the problem of Henry VI as while he had him locked in the tower he could still be a focal point for Lancastrian rebellion.
· Edwards foreign policy had played a role as by siding with the Burgundians he had made an enemy of the initially pro Yorkist Louis. Louis actively supported Margaret and Henry after 1467 in return for the promise to give the French Calais.

(For more detail on the above see pages 90 – 92 in the textbook)
















‘Edward IV was more successful in his second reign than his first’ how far do you agree with this view

	Edward was more successful
	Edward was not more successful

	· The deaths of Henry Vl and his son, Edward, meant that there was no one to challenge Edward’s right to the throne. All the male Lancastrians had died apart from Henry Tudor and he was not regarded at this stage as a great threat to the house of York. 
· He expanded his political power base in the country using major noblemen to govern difficult areas for him. His Brother Richard controlled the council of the north and was loyal to Edward during his lifetime. Richard was even able to fight the scots for Edward.
· He provided two legitimate sons to succeed him, the Eldest Edward being born during the readeption
· He launched successful invasions of France and Scotland, underlining his status as a warrior king. He was able to get the French pension from Louis at the treaty of Picquigny.
· The two overmighty subjects who had done so much to bring about the political instability of the first reign were eliminated. Warwick was killed at the Battle of Barnet in 1471 and Clarence was eventually executed in 1478. He left an infant son, Edward, Earl of Warwick, but the child was too young to be any threat to the king.
· Leading Lancastrians had also been neutralised. Jasper Tudor and his nephew Henry Tudor were in exile in Brittany. Edmund Beaufort, Duke of Somerset, and his brother John were killed at the battle of Tewkesbury in 1471. Most of the rest of the nobility now threw their lot in with Edward lV, thus putting him in a stronger position than before.
· There are indications that the revenue from royal lands increased during the second reign. The King appointed commissioners to inspect the collection of revenues in the Duchy of Lancaster. Following this initiative, crown revenues collected in Lancashire by Thomas Lord Stanley increased dramatically. Lands yielding £347 a year for the Crown in 1476 brought in £800 in 1478 and £885 by the end of the reign.
· There are some complaints of a lack of Law and order in the first reign (see Margaret Paston’s account in the sources on law and order) Edward’s use regional magnates restored a degree of order to the kingdom with order imposed by groups like the council of the North. 
	· Edwards Marriage to Elizabeth Woodville created tension across both his reigns. It alienated Warwick in his first reign and Gloucester in his second.
· His use of regional magnates might have been useful in exerting his control, but it created tensions between the senior members of the nobility.
· While Edward had two sons the events after his death show he was not successful in securing his dynasty. This was largely down to his choice of wife and mishandling of Richard Duke of Gloucester.
·  As early as 1466, Edward appointed special commissioners to investigate the collection of customs revenue at the main ports and to report abuses. Further commissions followed in 1473 and 1474. The king received extensive income form customs duties – in the region of £25,000 a year at the start of the reign. Customs duties were taxes on the import and export of goods but this was a feature of both his terms as king.
· While Edward did deal with Louis’ intervention in the readeption, the treaty of Picquigny split the Anglo-Burgundian alliance and was ultimately a failure as Louis stopped paying the pension in 1481. Richard’s actions in Scotland also ultimately failed and created more hostility towards the Yorkists, although ultimately it was Richard who paid the price for this. 




How accurate is it to say that Henry Tudor was able to seize the crown primarily because of Richard III’s inability to secure the support of the great nobles of England?

Inability to secure support

· Many of the nobility deserted Richard at Bosworth. Northumberland didn’t turn up.
· Richard’s Northern powerbase had alienated many of the nobility. 
· Virtually none of the Southern nobility were at Bosworth on either side showing a lack of support for their king
· Stanley’s actions supporting Tudor directly led to Richard’s death. William Stanley’s men dealt the final blow
· Richard’s actions to deal with this like holding Stanley’s son hostage failed to deal with this and shows how he recognised his vulnerability
· Richards actions in taking the throne split the Yorkists and created the situation where the Woodvilles would support Henry Tudor. The proposed marriage between Tudor and Elizabeth of York brought many of Edward IV’s former supporters to Henry’s side once Richard was defeated. 
· Buckingham’s rebellion showed from an early stage how the greater nobility were prepared to act against Richard. Supporters of this rebellion like Willoby de Brooke fled to France and supported Tudor at Bosworth.

Other Factors

· Foreign support was also very important French mercenaries supported Tudor at Bosworth and turned the tide.
· Other than Oxford and ultimately Stanley, most of the nobility did not support Tudor either
· Some great nobles did fight with Richard. Norfolk, Surrey and Lincoln were all in his Army
· Richard had dealt effectively with some threats from the major nobility. Rivers and Hastings had both been executed when he took the throne
· Richard made strategic errors at Bosworth and put himself at risk.
· Tudor had a Lancastrian claim (all be it a weak one) this meant he would always get support.
· The legacy of the wars of the roses left nobility unwilling to support either side. Some historians have argued Henry VII faced the same problem at Stoke. 
· Primary sources like Manchini show Richard reputation was poor among people other than the nobility (counter argument, link to Tudor propaganda?)
· Richard was unlucky both his wife and son died while he was king leaving him much more vulnerable.














‘Richard of Gloucester was only able to seize the throne in 1483 because of the mistakes made by Edward IV during his reign’ How far do you agree

Edwards Mistakes:

· Woodville Marriage created divisions in the nobility which continued into his second reign. While it was primarily Warwick who was alienated by these Edward continued to support the Woodvilles at the expense of others. 
· Grey brothers promoted to regional Magnates in the Southwest
· Richard grew increasingly alienated in the North in the last years
· Edwards allowance of Richards war with Scotland in 1480 gave him a taste of real power and his refusal to support him in Edinburgh further alienated him
· Richards Northern powerbase supported him in his coup. Rivers and Grey sent to Pontefract castle in the North
· Buckingham supported Richard partly due to the unpopularity of the Woodvilles
· Edwards’s children did not have the legitimacy that a marriage to a foreign princess would have had.
· Even Hastings initially supported Richard by letting him know about the Woodville plot although his support for Edward V led to his death
· Edwards Foreign policy led to a lack of foreign support for his dynasty
· Regional magnates scheme created hostility
· Allowing Richard to Marry Anne Neville and awarding his Warwick’s lands in the North made him very powerful.
· Edward himself recognised he had allowed the situation to get out of control shown by his attempt at a deathbed reconciliation between Richard and the Woodvilles. 

Not mistakes:

· Gloucester was very loyal in his early years he fled with Edward to Burgundy. Edward had no way of knowing he would betray this
· Gloucester took advantage of the divisions and acted decisively. He was able to conceal his intentions long enough to put himself in a position to act
· Edward had no way of knowing his death would be so sudden
· Gloucester took advantage of the Neville marriage to increase his power in the North
· Gloucester took advantage of the heirs being minors
· Legacy of the wars of the roses led to limited desire for conflict from the nobility
· Many alternatives had died during the wars giving Richard a confidence in his claim
· Legacy of the wars had made usurpation acceptable. Edward was a usurper. 
· Gloucester acted decisively and ruthlessly against Hastings, Rivers and Grey. His supporters persuaded Elizabeth Woodville to allow her younger son Richard to join Edward in the tower. In a way he was a product of the Wars of the Roses.
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Revision Session  – Henry VIIThe Basics:
· 1 hour 30 minutes exam
· Section A = 30 mark question using primary sources (three in total)
· Section B = 20 mark essay from a choice of two
· The primary sources and the questions for section A will come from the ‘enquiry topic’ of the course. Wars of the Roses (1445-1461)
· Worth 25 % of you’re a level

The Last section of the Unit 1 course focuses on Henry VII, 1485-1509 (note this is not the enquiry topic so you would use these content to write a 20 mark essay). There are three main topics to revise when looking at Henry VII:

SECURING THE KINGDOM: RIVAL CLAIMANTS AND REBELS – 20 MARKS

	
· To what extent were the Yorkists a serious threat to Henry VII’s security throughout his reign?

· How far had Henry VII consolidated the throne by 1489?

· To what extent was Henry VII’s weak claim to the throne the most important reason for the rebellions and challenges that were mounted against him?


DOMESTIC POLICIES 1485-1509 - 20 MARKS


· How successfully did Henry VII strengthen government?

· ‘The most serious challenge to Henry VII was weak royal finances.’ How far do you agree with this view?

· Assess the reasons why Henry VII was able to reduce the power of the nobility?

FOREIGN POLICY 1485-1509 - 20 MARKS



· Assess the aims of Henry VII’s foreign policy?

· ‘Dynastic security was the most important aim of Henry VII’s foreign policy.’ How far do you agree?

· Henry VII was more successful in his relations with Scotland and France than Spain.’ How far do you agree?















How successfully did Henry VII strengthen government? (20 marks)































	

Henry VII was more successful in his relations with Scotland and France than Spain.’ How far do you agree? (20 marks)
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How far had Henry VII consolidated the throne by 1489?





















Why was there unrest in the early years of Henry VII’s reign?
· Henry’s claim to the throne was weak. It came from his mother’s side – Margaret Beaufort who was a descendant of Edward III
· Henry took the crown by force at the Battle of Bosworth in 1485
· Yorkists would not accept Henry VII’s claim to the throne believing that Richard III had been usurped 
· Henry was largely unknown in England before 1485 but his reputation was damaged by 14 years in exile in France along with French support in taking the English throne
· 
Rebellions and Unrest:
· The Lovell Rebellion (1486) – Uprising from Richard Lovell and the Stafford brothers, all supporters of Richard III. Behan in the Midlands, the north and in Wales when Henry went on Royal Progress. Poorly coordinated and dispersed in the face of Henry’s forces. Lovell fled to Flanders and Humphrey Stafford executed 
· The Yorkshire Rebellion (1488) – Reaction to Henry’s subsidy (tax) to fight was in France of £100,000 at a time of bad Harvest. Easily put down by a royal army but demonstrated Henry’s limited power in the North
· The Cornish Rebellion (1497) – Reaction to subsidy to pay for war defence against Scotland (James IV planned to invade to support Perkin Warbeck). 15,000 rebels, from a range of social classes gathered but were defeated by Henry at the battle of Blackheath. Leaders executed
· Lambert Simnel (1486) – Claimed to be the Earl of Warwick (Richard III’s) nephew. Supported by Margaret of Burgundy and Yorkist supported like the Earl of Lincoln. Simnel landed in Lincolnshire with 8,000 men. Defeated at the battle of Stoke. Significant threat as Simnel followed the same plan as Henry VII in 1485
· Perkin Warbeck (1491-1499) – Claimed to be Richard, Duke of York (murdered in the Tower). Started in Yorkist stronghold of Ireland but moved to France. 1492 Warbeck moved to Flanders and the support of Margaret of Burgundy. Also gained support of the Holy Roman Emperor Maximilian and some of Henry’s own advisers e.g. William Stanley. Warbeck attempted a landing at Deal in 1495 but then fled to Ireland. Gained support from James IV of Scotland but defeated. Tried to support the Cornish rebellion but eventually captured and executed in 1498

How did Henry Consolidate Power?
· Dated the start of his reign to the day before the Battle of Bosworth meaning that all those who fought against him could be declared traitors and their land seized
· Henry arranged his coronation for before the first meeting of Parliament so that no one could accuse him of having been made king by Parliament
· January 1486 Henry Married Elizabeth of York attempting to unite the families and produce an accepted successor
· Control over the nobility – Acts of Attainder, use of bonds and recognisances
· Control over the regions –Council of the North and of Wales
· Royal finances – Use of the Chamber rather than the Exchequer to collect money from crown lands
 
How serious a threat to Henry VII’s rule was the Yorkist challenge?

Serious
· The weak nature of Henry VII’s claim.
· The Stafford/Lovell rebellion in 1486 showed how insecure H was at the start of his reign & that marrying Elizabeth of York did not by itself dispose of the Yorkist threat. 
· In themselves, Simnel and Warbeck presented little danger but they provided a focus for the plots of others in England and overseas, such as Margaret of Burgundy, who financed Simnel’s army at Stoke. H was never truly secure until she died in 1503.
· Ireland was also sympathetic to the Yorkists; most of Simnel’s army at Stoke was Irish.
· Simnel was supported by powerful nobles like Kildare, Lincoln & Lovell.
· Simnel was a threat because it forced the king into battle, which might have gone the same way as Bosworth. In fact Stoke was a bigger, bloodier & longer battle than Bosworth; 3,000 of H’s troops were killed & it could well have gone the other way if Simnel had had more than 2,000 German mercenaries.
· Warbeck was a threat as he received support from various times from France, Burgundy, the HRE & Scotland.
· H had to beat off a Scottish invasion in 1496 & his attempt to levy taxes to finance a war against Scotland in 1497 provoked the very serious Cornish tax rebellion.
· H had to impose a costly & unpopular trade embargo 1493-6 to stop Burgundy & the HRE supporting Warbeck.
· That Sir William Stanley, to whom H owed his throne & as Lord Chamberlain was responsible for H’s personal safety, should think it worthwhile to correspond with Warbeck showed what a threat he was.
· H’s decisions to execute Stanley in 1495 & Warbeck in 1499 shows he did not feel secure.
· The imprisonment & later execution of Warwick (& the fact that Simnel gained so much support by impersonating him) showed he was a threat.
· Suffolk posed a serious threat which H was lucky to be able to deal with (when Duke Philip of Burgundy was forced by a storm to land in England in 1506).

Not Serious
· The fact that R III was killed as well as defeated at Bosworth made the Yorkist threat much less serious than it would otherwise have been & forced the Yorkists to rely on impostors.
· Ross argues that H’s vanguard alone was sufficient to defeat Simnel at Stoke; H had more troops & they were more experienced.
· The Yorkshire tax rebellion in 1489 was not a serious threat & probably not connected to Yorkist claims to the throne anyway.
· Warbeck had to keep moving, successively to Ireland, Kent, France, Burgundy, the HRE, Scotland & Cornwall, reflecting his inability to get any sustained support either abroad or at home. 
· The Scottish “invasion” of 1496 was little more than a border raid & Warbeck’s army in Somerset in 1497 fled without a battle, so H never had to fight seriously for his throne after Stoke.
· Warbeck’s failure to exploit the Cornish tax rebellion in 1497 (his army ran away when H’s appeared) shows that it had little to do with Yorkist claims to the throne.
· H’s sensible policies, e.g. his effective spy network which tracked Warbeck’s movements & discovered Stanley’s treason, reduced the threat as time went on.

CONCLUSION: Give a mark out of 10 for how serious the threat was & write a conclusion explaining this & incorporating at least 3 bullet points on each side. It should be decisive but balanced.




How effective was Henry VII in dealing with the Yorkist challenges to his throne?
It is likely that most answers will focus on the Simnel and Warbeck rebellions, but better answers might also consider the de la Pole threat, the Yorkshire tax rebellion and Suffolk. There might also be mention of the situation in Ireland and the general threat from Yorkist nobility who often found themselves under heavy financial burdens. 

Yes
· Henry was successful as none of the challenges were able to remove him from the throne. 
· The Yorkist cause was reduced to using pretenders.
· Dating the start of his reign to the day before Bosworth meant anyone who fought against him could be convicted of treason. 
· Henry married the best Yorkist claimant, Elizabeth of York.
· Having defeated Simnel, Henry was able to show mercy and defuse the situation by parading the real Earl; the success of his policy can be seen when Warbeck rose and failed to gain support in Ireland, unlike the Simnel rising. 
· It might be argued that the decline in rebellion after the defeat of Simnel provides evidence of his success and that Warbeck was never more than a nuisance that Henry was largely able to nullify. 
· Henry, it can be argued, did deal very successfully with Warbeck as his attempts at invasion were pathetic failures, and he was also able to keep him on the move between European courts.
· H imprisoned Warwick until the conspiracies of other plots provided an excuse for his execution.
· H defeated the tax rebellions in 1489 & 1497.
· H ended foreign support for pretenders through the Treaty of Etaples 1492, the Intercursus Magnus 1496 & the Truce of Ayton 1497.
· H used military action to put pressure on the French & Scottish kings to stop supporting Warbeck.
· The execution of Sir William Stanley in 1495 helped H to control the nobility by showing that nothing less than 100% loyalty would be tolerated.
· Henry was able to hand on a secure throne to his son.

No
· The Simnel rebellion did force Henry into battle only two years after Bosworth and it was not impossible that a similar result might have occurred. 
· Sir William Stanley’s disloyalty in 1495 showed H was not yet secure.
· Foreign support for the Pretenders, particularly from Margaret of Burgundy, made it more difficult for Henry as he was unable to deal with her. 
· Henry had difficulty capturing Warbeck. 
· H had to make tax concessions because of the rebellions in 1489 & 1497









WHAT WAS THE MOST IMPORTANT AIM OF HENRY VII’S FOREIGN POLICY?

Securing the Throne
· Foreign policy was the most important way to secure his throne as most support for pretenders came from abroad, e.g. Simnel’s army in 1487 was financed by Margaret of Burgundy. H never forgot that he himself owed his throne to French support.
· Margaret of Burgundy was a constant threat until her death in 1503.
· Foreign support for pretenders was a problem throughout H’s reign; only after Burgundy surrendered Suffolk to him in 1506 was he fully secure.
· His willingness to impose  trade embargoes 1493-6 & 1506 & to bribe Maximilian with huge sums of money to stop Burgundy & the Holy Roman Empire supporting Warbeck & Suffolk respectively shows that securing his throne was more important than financial or economic considerations.
· All other factors link back to securing his throne: marriages with Spain & Scotland were designed to gain international recognition of his dynasty & secure its future, while avoidance of war was designed to stop tax rebellions like those in Yorkshire in 1489 & Cornwall in 1497. Avoidance of war with France (Treaty of Etaples 1492) & Scotland (Truce of Ayton 1497) stopped support for Warbeck.

Marriages
· Marriages were important as they brought him European recognition, which was important because of his weak claim to the throne, and also gave him a Spanish alliance. 
· The marriage of Arthur to Catherine of Aragon in 1501 was intended to cement H’s alliance with Spain & help secure Arthur’s succession to the throne. 
· The marriage of H’s daughter Margaret to James IV in 1503 brought at least short term peace with Scotland. 

Avoidance of War
· This helped H achieve other objectives like improving his finances & securing his throne. He could not have achieved financial success without avoiding war & raising taxes for war provoked rebellions in Yorkshire (1489) & Cornwall (1497). Avoiding war with France & Scotland enabled him to stop support for Warbeck.
· H’s invasion of France in 1492 might seem to contradict this but in fact he invaded in  the autumn (too late for serious campaigning) & was clearly hoping to be bought off.
· H was unable to prevent a Scottish invasion in 1496 but the Truce of Ayton the following year showed his eagerness to avoid war with Scotland.
· H’s eagerness to avoid war with France & Scotland in the 1490s was motivated primarily by his desire to stop them supporting Warbeck.

Other Factors
· Knowing he had won power himself with French support, H tried until 1492 to stop France taking over Brittany, which could be used as a base from which to invade England.
· Financial gain was arguably the most important achievement given the nature of his finances and use the French pension to support this and also the development and protection of trade, which was secured by his treaties with Spain (Medina del Campo 1489), France (Etaples 1492), Burgundy (Intercursus Magnus 1496). 






To what extent was Henry VII’s foreign policy a success?

Successes
· He gained international recognition through treaties with Spain, France, Burgundy & Scotland plus diplomatic marriages with Spain & Scotland. 
· He forced Warbeck to keep moving in the 1490s from France to Burgundy to Scotland b/c he kept cutting off his foreign support; in the end H was able to capture him without a battle.
· H’s foreign policy was financially successful: he gained a French pension which added 5% to his annual income, avoided the expense of war after 1497 & boosted his customs revenue through trade agreements with France, Spain & above all Burgundy (Intercursus Magnus 1496).
· H was keen to avoid expensive wars and this was largely achieved; although he went to war against France over Brittany it was short-lived and Henry actually gained money through the French pension.
· By avoiding war & therefore taxation after 1497 he minimised the danger of rebellion. 
· H succeeded b/c he set himself realistic objectives, focusing on security rather than glory (e.g. in negotiating the Treaty of Etaples in 1492).
· In the 1490s he was able to secure a trade agreement with France despite also maintaining good relations with Ferdinand & Maximilian through the Holy League.
· The Truce of Ayton was the first peace agreement between England & Scotland since 1328 & secured peace for the rest of H’s reign.
· The Treaty of Windsor in 1506 (securing custody of Suffolk) meant he & his heir were fully secure.
 
Failures
· He failed to cut off Burgundian support for Simnel in 1487, forcing him to fight the Battle of Stoke.   
· He failed to prevent the French takeover of Brittany, partly b/c he was let down by his allies (Ferdinand & Maximilian).   This could be seen as a threat to English security.  
· His attempts to raise taxes for wars against France & Scotland provoked tax rebellions in Yorkshire in 1489 & Cornwall in 1497. 
· Margaret of Burgundy supported both Warbeck & Suffolk & was a constant threat until her death in 1503.
· This forced H to impose economically damaging trade embargoes on Burgundy 1493-6 & 1506 to stop support for Warbeck & Suffolk respectively. Although trade was restored the terms favoured Burgundy b/c H was so desperate to stop support for pretenders; he also spent huge sums bribing Maximilian to achieve this.
· He had to face a Scottish invasion in 1496 b/c he had failed to prevent support for Warbeck.
· H was not fully secure until 1506 when Burgundy handed over Suffolk into his custody.








DOMESTIC POLICY ANALYSIS
“Domestic policy” means:
1. Securing the throne & succession through domestic measures (as opposed to foreign policy) like the spy network, marrying Elizabeth of York, executions etc (see notes on this).
2. Financial policy.
3. Control of the nobility.
You might be asked a separate question on any of these or possibly a question on domestic policy more generally.
You could be asked a question on which of the 3 was most crucial to H’s success, which is difficult to answer b/c they overlapped. H himself always regarded securing his throne as the most important priority, e.g. his willingness to sacrifice trade to stop support for pretenders, & unless he kept the throne he obviously couldn’t have achieved anything else. He would have regarded financial success & control of the nobility as means to the end of securing his throne rather than as ends in themselves. On the other hand, if he couldn’t control the nobility or couldn’t afford to raise an army to fight pretenders, he would lose the throne anyway.
H himself said “the kings my predecessors, weakening their treasure, have made themselves servants to their subjects”. Foreign ambassadors (to whom H gave expensive gifts to show his wealth) noticed that H liked to be thought wealthier than he truly was b/c it would discourage people from supporting pretenders. H has often been accused of being greedy but this was b/c, as Alexander Grant has argued, he equated money with power.
Edmund Dudley noted “the King’s grace was much set to have many persons in his danger at his pleasure”; by “danger” he meant financial ruin b/c this (through the system of bonds & recogs. which Dudley enforced) was H’s favourite means of controlling the nobility. These are often seen as a money raising device but in fact their main purpose was to secure good behaviour, especially of former Yorkist nobles like Surrey & Dorset. In that sense control of the nobility was more important than finance.

HOW SUCCESSFUL WAS HENRY VII IN STRENGTHENING ROYAL FINANCES?
Successes
· The use of the Chamber system helped H to bring finance under his personal control; he took a keen interest in accounts, payments & income. This was quicker & more efficient than the Exchequer.
· He employed effective officials like Bray, Empson & Dudley to ensure that any money due to the Crown (e.g. fines & feudal dues) was thoroughly collected, e.g. a knighthood fee for his son Arthur & a dowry for his daughter Margaret.
· Bonds & recognisances were used to increase revenue, although their primary purpose was to ensure good behaviour.
· Compared with Edward IV (a financially successful king) H increased all revenues, especially crown lands (X4), benevolences (X2) parliamentary taxation (by 55%). Overall income was increased by 67%.
· He increased income from crown lands by seizing the estates of those who opposed him like Lincoln, Suffolk & Sir W Stanley. This plus H’s meanness with patronage & Acts of Resumption (taking back all lands given away by the Crown since the Wars of the Roses started in 1455) enabled him to quadruple revenue from crown lands.
· He retained his French pension for 17 years compared with Edward IV’s 7.
· He secured profitable trade agreements with Burgundy, France & Spain which boosted customs revenue, as did the new Book of Rates uprating them in 1507.
· He left a substantial surplus (estimated at around £100,000) for his son.
· H’s successes in raising other revenues (especially crown lands) enabled him to minimise parliamentary taxation after 1497, preventing any more tax rebellions.

Failures
· Raising taxes provoked rebellions in Yorkshire in 1489 & Cornwall in 1497, forcing H to limit them thereafter; Parliament met only once in the 2nd half of his reign.
· His success in raising income compared with Edward IV was least marked with customs revenue (hampered by trade embargoes against Burgundy 1493-6 & 1506), clerical taxation & his French pension.
· H’s desperation to cut off support for pretenders forced him to give huge sums to Maximilian (some estimates say around £300,000) to stop support for Warbeck & Suffolk.
· H’s greed, especially in the last years of his reign when Empson & Dudley extorted so much money by unfair methods, caused so much resentment that it might have provoked a rebellion. The execution of Empson & Dudley after H’s death showed this.

HOW EFFECTIVELY DID HENRY VII HANDLE THE NOBILITY?
Successes
· By dating his reign to the day before the Battle of Bosworth, H could threaten nobles who fought against him with acts of attainder (convicting them of treason) to keep them under control.
· By executing Sir William Stanley in 1495 he sent a clear signal to the nobility that nothing less than 100% loyalty would be tolerated.
· He prevented the emergence of over-mighty subjects (like Warwick in Edward IV’s reign).
· He used bonds & recognisances to limit the power of the nobility (e.g. Dorset was forced to show his loyalty by helping to crush the Cornish tax rebellion to get them lifted & in total 60% of the nobility were subjected to them at some stage during his reign) while at the same time winning their loyalty through the Order of the Garter.
· H was much more effective than previous kings at penalising retaining, e.g. Burgavenny was fined £70,000 in 1507.
· The Royal Council was used more effectively to exert control over the nobility, as were institutions like the Council Learned in the Law, Court of Requests, Star Chamber & the Councils of the North and Wales. H limited the power of the nobility by employing legally trained bishops (e.g. Morton, Lord Chancellor & Archbishop of Canterbury) & gentry (e.g. Sir Reginald Bray) in these institutions.
· He increased income from crown lands by seizing the estates of those who opposed him like Lincoln & Suffolk.
· H relied on loyal nobles to control parts of the country, like Bedford in Wales & Oxford in East Anglia. He also consulted them on issues like policy towards France in 1491-2. Oxford & Bedford fought with him at Bosworth & Stoke.
· He gained the support of some former Yorkists, e.g. Thomas Howard was restored to the earldom of Surrey for suppressing the Yorkshire tax rebellion in 1489.
· Hardly any nobles supported rival claimants after the Simnel rebellion; Warbeck had to rely on support from abroad.
· H’s meanness with patronage & Acts of Resumption (taking back all lands given away by the Crown since the Wars of the Roses started in 1455) enabled him to quadruple revenue from crown lands.
· The nobles might not have liked H but they feared him; he was in no danger of losing the throne as John & Richard II did b/c he was much more competent than them.

Failures
· The combination of Lincoln, Lovell & Kildare posed a serious threat to H in 1487, forcing him to fight a battle at Stoke which was bigger & bloodier than Bosworth (3,000 of his soldiers were killed).
· The failure of the nobility to prevent Simnel marching across the North in 1487 & the Cornish rebels marching across the South in 1497 shows their lack of loyalty to H.
· Some historians, notably Thomas Penn, have argued that the policies enforced by Empson & Dudley in his last years were so oppressive that they could have provoked a rebellion.
· H became harsher & more greedy in the 2nd half of his reign (he passed 51 acts of attainder 1504-9) despite being more secure; this inevitably provoked resentment.
· His excessive severity against the nobility (subjecting nearly 60% of them to bonds & recogs.) made him v unpopular.  As Christine Carpenter has pointed out, he did not discriminate between those who were dangerous & those who were not.
· H abused his feudal rights, e.g. fining the Duke of Buckingham £7,000 in 1498 for entering his inheritance without licence before he was 21.
· The frequency of H’s acts against retaining (1485, 1487 & 1504) suggests they were ineffective.
· The limitations H placed on the nobility (there were only 35 nobles in England in 1509 compared with 50 in 1509) & his harshness even towards loyal supporters (he fined Oxford for retaining) made him so unpopular that there might have been a revolt if he had reigned much longer. Both John & Richard II were deposed b/c they treated the nobility so badly.


Full list of old essay questions

Edward IV
1: Assess the reasons for Edward IV losing the throne in 1470? (OCR textbook)
2: The most important reason for Edward IV losing the throne in 1470 was the actions of the Earl of Warwick’ how far to you agree (OCR textbook)
3: How successful was Edward IV in restoring royal authority by the year 1470 (OCR old spec)
4: How successful was Edward IV’s managing of royal finances (OCR old spec)
5: How successful was Edward IV in restoring order (OCR old spec)
6: Edward IV was more successful in his second reign than his first’ how far do you agree with this view? (OCR old spec)
7: How successful were the domestic policies of Edward IV’s second reign of 1471 – 1483? (OCR textbook)
8: It was the weaknesses of Edward IV’s reign rather than the personal ambitions of Richard III which led to the usurpation of the crown in 1483.”How far do you agree with his statement in explaining the events of 1483?
9: To what extent was the crisis of 1470 brought about by the marriage of Edward IV to Elizabeth Woodville? (2018 exam)
Richard III
Why was Richard III’s reign so shortlived? 
Was Richard responsible for his own insecurity?
How far was the unpopularity of Richard III responsible for the success of Henry Tudor’s challenge in 1485? 
How accurate is it to say that Henry Tudor was able to seize the crown primarily because of Richard III’s inability to secure the support of the great nobles of England?
‘Richard III lost his throne because of his own mistakes.’ How far do you agree? (2017 exam)
Henry VII foreign
To what extent was Henry VII’s foreign policy a success?
“Marriage agreements were the most successful part of Henry VII’s foreign policy” How far do you agree with this statement?
How successful was Henry VII in achieving his foreign policy aims?
“The avoidance of war was the most important aim of Henry VII’s foreign policy.” How far do you agree with this statement? 
“Henry VII’s foreign policy achieved little” How far do you agree with this statement?
To what extent was Henry VII’s foreign policy motivated by the need to secure his dynasty on the
English throne? (2018 exam) 
Henry VII domestic
“The need to secure his throne his throne dominated the foreign policy of Henry VII.” How far do you agree with this statement?
How effective was Henry VII in dealing with the Yorkist challenges to his Throne? (2009)
How effectively did Henry VII deal with England’s domestic problems (2010 Also Nobility and Finance topic)
How serious a threat to Henry’s rule was the Yorkist challenge? (2010 June)
How successfully did Henry VII deal with the problem of the Yorkists (Jan 2012)
How successfully did Henry deal with the domestic problems he faced?
How dangerous were Yorkist plots to Henry VII (Jan 2013)
How successful was Henry VII in his treatment of the nobility? (2017 exam) 
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